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Ritp://farbe i tu-berlin. ded DEABDEABL ONA.TXT /.PS; transfer output

N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
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log- =log +0,35 logL o= —0,35l)\~Us7d
log[Co, G, ,Lo] Adaptation: A | =520

maximum
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1 3 uy

00 700 A/nm

, - -data uy=(A - 550) / 50

+loglLo)/2 log - =-0,35u)-u ]

+ 0,35 |Og Lo= —0,35[.])\—U570]

,Lol Adaptation: A =520
570

maximum
log(“m)=—0,35]
m=0,44
Threshold
t5:0,00

3 Uy
700 A/nm

, - -data uy=(A — 550) / 502
+loglLo)/2 log - =-0,35u)-u ]
+ 0,35 |Og Lo= —0,35!.])\—U570]
,Lol Adaptation: A | =520

, - -data uy=(\ — 550) / 502
+loglo)/2 log = -0,35u)-u ]2
+ 0,35 |Og Lo= —0,35!.])\—U570]
,Lol Adaptation: A =520

m=0,44
hreshold
ta70,00

8 Uy

DEA50-7N

uy=(A - 550) / 502
+logLo)/2 log = —0,35\-u ]2
+0,35 logLo = —0,35)\~Us7q
, Lol Adaptation: A =520
570

maximum
log(“m)=—0,35)
m=0,44
Threshold
tz=0,00

\ 1\ 2 Uy
N/

600 700 A/nm

uy=(A - 550) / 50
+logLo)/2 log = -0,35u\-u ]
+0,35 logLo = —0,35\~Us7q
,Lol Adaptation: A =520

570

maximum

log(“m)=—0,35
m=0,44

Threshold

1a=0,00

2 Uy

700 A/nm

-data uy=(A — 550) / 502
+loglLo)/2 log = —0,35\-u ]2
+0,35 logLo = —0,35\~Us7q
,Lol Adaptation: A =520

570

maximum
log(“m)=—0,35)

m=0,
Threshold
=0,

3

600
-data uy=(\ — 550) / 502
+logLo)/2 log = —0,35\-u ]2
+0,35 logLo = —0,35\~Us7q
, Lol Adaptation: A =520
570

maximum

m=0,44
Threshold
=0,

DEAS0-8A

uy=(\ — 550) / 502
log - =-0,35u)-u ]2
|Og Lo= —0,35[.1)\—[]570]
Adaptation: A =520
570

maximum
log(“m)=—0,35]
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TUB-test chart DEAS; LMS_XYZ_17M3 colorimetry; 520(G), 545(P), 570(Y), 595(0), 620(R)
log & lin[Cone sensivity and excitation], threshalg=0,00
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